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Super- challen veshion ! T 1 mdependent free
‘}Lr‘:ws ore 154_?3,,9 1 coch wath t)rcpéa,ﬂ IF}P Y p of\(golrﬁ
i, vl Z is the nowber ot Ads, whad is

P(z=r), for OSr2n’
(Ansuar : P(Z=r)= (R) " () )



De.\pum‘hg?v\ ?)_-
GNnew on rv )( the Probaé Irhf wass function

( wn()) for X I§AU3-L the st of ol PoSSLAL:

Vo-lues o'F P[ l_l
I <, cowptled £
I je‘_ E_XME\C obeNne, pue (,> &) the

FWI
Ewomple 5.
E)f% rv. Z ‘r5<m-l¢ w= ccm cﬂcw:éc
‘uvz F'M Lh (Cd' LSC-S{)‘{;L; wcufs
(c-) B fxstuifj the vales
P(z=0)= 0.00%
P(z=1\= 0.096
P(z=3]1= 0.3%4

P(Z=3)= O.5[Q

(8 By e forula.
P(Z=x)= (3)03%0.3°% (022213)
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